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Question Number : 1 Question Id : 68634022575 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
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OGP DI HI DI IS1-T61 94 Bl ToR TS & -

A. GRI @1 @8 AlHaR
B. YIS
C. ddlgld
D. Wal g gidl
E frdi g2
i fU 70 fJadhedl § T Tol 39 &1 99 Bt -
1. $AAB, C
Hdd A, DJE
HAAC,D.B

4 FAAATE

Options :

68634089209. 1
68634089210. 2
68634089211. 3
68634089212. 4

| ]

L5 ]
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Correct Marks : 4 Wrong Marks : 1



fo5=1 ot @t U1g aEe & fea T T8l fie gadt & -

A. IRfed vAfde
B. ¢diag

C. 3a-d

D. &9

E. g

- feg g faoed! H ¥ Hel SR &1 99+ Hife -
1. PAUA, B

. $ddaC, D

3. HduD, E

4.%49d B, D

Options :

68634089213. 1
68634089214. 2
68634089215. 3
68634089216. 4

| ]

Question Number : 5 Question Id : 68634022579 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
S 1 9 R SR © -
1. S HH & U8 & < o §ied 81
. §AqH AR
ST TEd BT 31T AR g3 Bl
4. 1 g T 5

Options :

68634089217. 1
68634089218. 2
68634089219. 3
68634089220. 4

| ]

LIPS ]

Question Id : 68634022574 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



FAfIRIT T2 D Ygh Wl & JoR alfeid ;

SR T 8. THATUR U1 aRE 61 ¢ | Rasiodl iR Ul & 4s @i e ¢ HEL &1 AL Rass! I aey
S 8 a1 a3 adl-aSl §E AR B e AiweR, de, Hiel, Rl g2 TR 31 o €1 39 9ad SR W H
T 4t T U G e § 96} e ad o [eFd 1 B, Wi U o Ul o U 8 SERT HaH® Id &
add 4 OgH 4 49 AU, Ug & 361 411 39 3191 di¥ 91 1o U] 34 &1 3 i 8§ Jie U1 318! 98
Wil forai fera- ael § o ot B4 el o1 ged did], gad gert ares 34l oHH 4 931 55 6
TS {59 AR DI6 H 3RgaR] & (oL o forad S B W83 i 9 H19-57, 91 85
HAAd A et 7 off wui g SR Bd SR o &1 T Tes AR ol &1-a41 3 9,
for1eh I8l TR BHRN HRBRIET A=l e U | SRIGH IHTEE 3R Hid TeiaTd Sdiar o1 are &1 o
[&a ¥ e wepdil € 2 a8 31eH, a8 SIRI, a8 (19 9d S1o] T [0 99 & | 9T 8 dl ol R SR SRR
B SRR |

Sub questions

Question Number : 1 Question Id : 68634022575 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR TR H HERIUR U SR 61 © - H Waifehd Ue 31 a1 U 8 2
1. e & YR 9T
2. 3T 9
3.8 TH
4. fomuRiS

Options :

68634089201. 1
68634089202. 2
68634089203. 3
68634089204. 4

Question Number : 2 Question Id : 68634022576 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
TR & SR WR RASihdi R AT @6 © :
1.95
2. 20"
3. O & YIS
4. TSR & T
Options :

68634089205. 1
68634089206. 2



68634089207. 3
68634089208. 4
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Sub-Section Number : 2
Sub-Section Id : 686340735
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634022580 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 6 Question Id : 68634022580 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
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Correct Marks : 4 Wrong Marks : 1
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Question Number : 7 Question Id : 68634022581 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 7 Question Id : 68634022581 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 8 Question Id : 68634022582 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FET B fGaH HHE-1 82
1. ST
TR
3. IR
4, SUIld

Options :

68634089229. 1
68634089230. 2
68634089231. 3
68634089232. 4

| ]
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No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 9 Question Id : 68634022583 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 10 Question Id : 68634022584 Question Type : MCQ Option Shuffling : No Is Question Mandatory
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Correct Marks : 4 Wrong Marks : 1
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Question Number : 10 Question Id : 68634022584 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 11 Question Id : 68634022585 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 11 Question Id : 68634022585 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 13 Question Id : 68634022587 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 13 Question Id : 68634022587 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 14 Question Id : 68634022588 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 14 Question Id : 68634022588 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 15 Question Id : 68634022589 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 15 Question Id : 68634022589 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 16 Question Id : 68634022590 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 16 Question Id : 68634022590 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Question Number : 17 Question Id : 68634022591 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gfe St faeedi § T & AR 3! B 3aRiel HH & ogafeyd o faar o |, O Fefafaa & 3 St
T ey BIeT IT TET 8 Sty

1. 865

[ )

. 468

[#F]
L
o
[ 5]

4, 786

Options :

68634089265. 1
68634089266. 2
68634089267. 3
68634089268. 4

Question Number : 17 Question Id : 68634022591 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 18 Question Id : 68634022592 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 18 Question Id : 68634022592 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 19 Question Id : 68634022593 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 19 Question Id : 68634022593 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634089278. 2
68634089279. 3
68634089280. 4

Question Number : 20 Question Id : 68634022594 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634089277. 1
68634089278. 2
68634089279. 3
68634089280. 4

Question Number : 21 Question Id : 68634022595 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634089281. 1
68634089282. 2
68634089283. 3
68634089284. 4

Question Number : 21 Question Id : 68634022595 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634089281. 1
68634089282. 2
68634089283. 3
68634089284. 4

Question Number : 22 Question Id : 68634022596 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634089285. 1
68634089286. 2
68634089287. 3
68634089288. 4
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Question Number : 22 Question Id : 68634022596 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634089285. 1
68634089286. 2
68634089287. 3
68634089288. 4
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Question Number : 23 Question Id : 68634022597 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634089289. 1
68634089290. 2
68634089291. 3
68634089292. 4

Question Number : 23 Question Id : 68634022597 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634089289. 1
68634089290. 2
68634089291. 3
68634089292. 4

Question Number : 24 Question Id : 68634022598 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634089293. 1
68634089294, 2
68634089295. 3
68634089296. 4

Question Number : 24 Question Id : 68634022598 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634089293. 1
68634089294. 2
68634089295. 3
68634089296. 4

Question Number : 25 Question Id : 68634022599 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634089297. 1
68634089298. 2
68634089299. 3
68634089300. 4
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Question Number : 25 Question Id : 68634022599 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634089297. 1
68634089298. 2
68634089299. 3
68634089300. 4
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Part B: Hospital Management

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

686340448
2

Online
Mandatory
75

75

300

Yes

0

1
686340736
Yes

null

Question Number : 26 Question Id : 68634022600 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

It 15 a learning disability. which affects individual's ability to break down words into its phonemes and hence
affecting the development of skills in reading, writing and spelling. This is called

1. Dyslexia

()

. Dysgraphia

L]

. Dyscalculia
4. Dysnomia

Options :
68634089301. 1



68634089302. 2
68634089303. 3
68634089304. 4

Question Number : 26 Question Id : 68634022600 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634089301. 1
68634089302. 2
68634089303. 3
68634089304. 4
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Question Number : 27 Question Id : 68634022601 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following gas 1s responsible for depletion of ozone layer--

1. CO, (Carbondioxide)

[ ]

. Chloroflouro carbons (CFCS)

Lad

. Water Vapour

4. Carbon Monoxide

Options :

68634089305. 1
68634089306. 2
68634089307. 3
68634089308. 4

Question Number : 27 Question Id : 68634022601 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634089305. 1
68634089306. 2
68634089307. 3
68634089308. 4

Question Number : 28 Question Id : 68634022602 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'"Endemic Disease' means the disease:

[

. 18 prevalent among animals

()

. occurs clearly in excess of normal expectancy
3. exhibits seasonal pattern

4. 18 constantly present in a given population

Options :

68634089309. 1
68634089310. 2
68634089311. 3
68634089312. 4

Question Number : 28 Question Id : 68634022602 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634089309. 1
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68634089310. 2
68634089311. 3
68634089312. 4

Question Number : 29 Question Id : 68634022603 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A primary Health Centre (PHC) caters to a rural population of:
1. 20,000
2.30.000

. 40.000

s

4. 50.000

Options :

68634089313. 1
68634089314. 2
68634089315. 3
68634089316. 4

Question Number : 29 Question Id : 68634022603 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
i W $g &1 ATHIO] STEE 1 ATl 4l ©.

1. 20,000

)

. 30.000
3. 40.000

4. 50,000

Options :

68634089313. 1
68634089314. 2
68634089315. 3
68634089316. 4

Question Number : 30 Question Id : 68634022604 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Most harmful metal cotamination m drinking water 1s of:
1. Copper
2. Iron
3. Zmnc

4. Lead

Options :

68634089317. 1
68634089318. 2
68634089319. 3
68634089320. 4

Question Number : 30 Question Id : 68634022604 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

OooT § 9ad gIH@RE g Sguvl 3 -

L)

1. PR

| ]

T
3. 5w
4. g

Options :

68634089317. 1
68634089318. 2
68634089319. 3
68634089320. 4

Question Number : 31 Question Id : 68634022605 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Full Form of DALY 15

[—y

. Disability Associated Life Year

()

. Disability Adjusted Life Year
3. Disease Associated Life Year

4. Disease Adjusted Life Year

Options :
68634089321. 1
68634089322, 2



68634089323. 3
68634089324. 4

Question Number : 31 Question Id : 68634022605 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
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Options :

68634089321. 1
68634089322. 2
68634089323. 3
68634089324. 4

Question Number : 32 Question Id : 68634022606 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which country in the world has the highest Life Expectancy Rate
1. USA
2. Japan

. China

L%}

4, France

Options :

68634089325. 1
68634089326. 2
68634089327. 3
68634089328. 4

Question Number : 32 Question Id : 68634022606 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634089325. 1
68634089326. 2
68634089327. 3
68634089328. 4

Question Number : 33 Question Id : 68634022607 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII

(Blood Groups) (Donate blood to)
Blood Group A | I |JAand B

Blood Group B | I |Only AB

Blood Group AB| IIT |JAB. A B and O
Blood Group O | IV [B and AB

o|o|w|=

Choose the correct answer from the options given below:

1. A-I, B-III, C-II, D-IV

[

CA-L B-IV, C-II. D-III

. A-IL B-I. C-IV. D-III

s

4. A-IV, B-IIL, C-II. D-I

Options :

68634089329. 1
68634089330. 2
68634089331. 3
68634089332. 4

Question Number : 33 Question Id : 68634022607 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-I, B-I11. C-I1, D-IV

| ]

CA-L B-IV, C-II. D-1II

cA-IL B-L C-IV. D-III

L

4. A-IV, B-III, C-II. D-I

Options :

68634089329. 1
68634089330. 2
68634089331. 3
68634089332. 4

Question Number : 34 Question Id : 68634022608 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Statement I: Hazardous. infectious. radioactive & sharp are four types of medical waste
Statement IT: Medical Wastes can be thrown without any treatment
In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true

| ]

. Both Statement I and Statement IT are false

. Statement I is true but Statement II 1s false

Lad

4, Statement [ 1s false but Statement II 1s true

Options :

68634089333. 1
68634089334, 2
68634089335. 3
68634089336. 4

Question Number : 34 Question Id : 68634022608 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634089333. 1
68634089334. 2
68634089335. 3
68634089336. 4

Question Number : 35 Question Id : 68634022609 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Statement I: Elephantasis is caused by nematodes.(round worm)

Statement IT: These nematodes are transmitted through the bites of infected mosquitos

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true

(]

. Both Statement [ and Statement 11 are false
3. Statement I is true but Statement IT is falze

4. Statement I is false but Statement IT is true

Options :

68634089337. 1
68634089338. 2
68634089339. 3
68634089340. 4

Question Number : 35 Question Id : 68634022609 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634089337. 1
68634089338. 2
68634089339. 3
68634089340. 4

Question Number : 36 Question Id : 68634022610 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Statement I Alzheimer 15 a degenerative brain disease that usually starts in late middle age

Statement IT: Memory loss is main problem in this disorder

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true

[

. Both Statement I and Statement IT are trus
3. Statement I 1s true but Statement II 15 false

4, Statement I is false but Statement IT is true

Options :

68634089341. 1
68634089342 2
68634089343. 3
68634089344. 4

Question Number : 36 Question Id : 68634022610 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634089341. 1
68634089342. 2
68634089343. 3
68634089344. 4

Question Number : 37 Question Id : 68634022611 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Statement I: The components of human blood include Plasma, RBCs, WBCs and platelets
Statement IT: The main function of platelets 1s blood clotting in order to control bleeding
In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true
2. Both Statement [ and Statement II are false

3. Statement I 1s true but Statement II 15 false

4, Statement [ is false but Statement II is true

Options :

68634089345. 1
68634089346. 2
68634089347. 3
68634089348. 4

Question Number : 37 Question Id : 68634022611 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634089345. 1
68634089346. 2
68634089347. 3
68634089348. 4

Question Number : 38 Question Id : 68634022612 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Statement I: Malignant Malaria is caused by Plasmodiun falciparum

Statement IT: Spread of Malaria can be checked by reducing mosquito breeding sites

In the light of the above statements. choose the correct answer from the options given below:
1. Both Statement I and Statement IT are true
2. Both Statement I and Statement I are false

. Statement [ 13 true but Statement IT 15 false

T

4, Statement I is false but Statement I 15 true

Options :

68634089349. 1
68634089350. 2
68634089351. 3
68634089352. 4

Question Number : 38 Question Id : 68634022612 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634089349. 1
68634089350. 2
68634089351. 3
68634089352 4

Question Number : 39 Question Id : 68634022613 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Statement I: A CT Scan in like a series of X-rays taken very quickly. when combined provide a 3D mmage of
body part.

Statement IT: MRI has a large. powerful magnet & radiowave to create a similar picture.
In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement IT are trus

| S

. Both Statement [ and Statement IT are false
3. Statement I is true but Statement II is false

4, Statement I 1s false but Statement II 15 true

Options :

68634089353. 1
68634089354. 2
68634089355. 3
68634089356. 4

Question Number : 39 Question Id : 68634022613 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634089353. 1
68634089354. 2
68634089355. 3
68634089356. 4

Question Number : 40 Question Id : 68634022614 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Statement I: Carbon Bomb is a o1l or gas project that will result in atleast a billion tonnes of CO, emmisions

over its lifetime
Statement IT: Whenever coal. o1l or gas 1s extracted it results in pollution and environmental degradation
In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true

()

. Both Statement [ and Statement IT are false

. Statement [ 15 true but Statement II 15 false

[F¥]

4, Statement I is false but Statement I is true

Options :

68634089357. 1
68634089358. 2
68634089359. 3
68634089360. 4

Question Number : 40 Question Id : 68634022614 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634089357. 1
68634089358. 2
68634089359. 3
68634089360. 4

Question Number : 41 Question Id : 68634022615 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Statement I: Benign & Malignant are two types of cancers.

Statement IT: Metastasis 1s the condition when cancer cells are confined to the site of origin only and do not
spread.

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true

(R

. Both Statement [ and Statement IT are false
3. Statement I is true but Statement IT is falze

4, Statement [ is false but Statement IT 1s trus

Options :

68634089361. 1
68634089362. 2
68634089363. 3
68634089364. 4

Question Number : 41 Question Id : 68634022615 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634089361. 1
68634089362. 2
68634089363. 3
68634089364. 4

Question Number : 42 Question Id : 68634022616 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Statement I: Leading cause of diarrhea 1s Rotavirus,
Statement IT: Rotavirus enters the body through skin.
In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true

[ )

. Both Statement [ and Statement I are false

. Statement [ 13 true but Statement IT 15 false

T

4, Statement I is false but Statement I 15 true

Options :

68634089365. 1
68634089366. 2
68634089367 3
68634089368. 4

Question Number : 42 Question Id : 68634022616 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634089365. 1
68634089366. 2
68634089367. 3
68634089368. 4

[ )
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Question Number : 43 Question Id : 68634022617 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements are true:

A. Plasma 1s the liquid part of blood.

B. Red blood cells carry oxygen from lungs to the rest of the body.
C. Platelets fight infections.

D. WBCs are also called leucocytes.

E. Blood group AB 1s a umversal donor.

Choose the correct answer from the options given below:

1. Only A, B and D

| ]

.OnlyA, Cand D
3.0nlyB,Cand E

4. OnlyA.Band E

Options :

68634089369. 1
68634089370. 2
68634089371. 3
68634089372. 4

Question Number : 43 Question Id : 68634022617 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634089369. 1
68634089370. 2
68634089371. 3
68634089372. 4

Question Number : 44 Question Id : 68634022618 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are not the surgical mstruments

A Scalpel

B. Reflex hammer
C. Scissors

D. Stethoscope

E. Retractor

Choose the correct answer from the options given below:

1. A.B. C Only
2.E. A Ounly
3.B.D Only
4. C. D Only

Options :

68634089373. 1

68634089374. 2

68634089375. 3
68634089376. 4



Question Number : 44 Question Id : 68634022618 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e & 9 o 9 wifod Sy el §

A THaua

B. Nieg emR
C. T ()
D. WYURHT

E. Redex

I fAU U faedl § T gl 3O &1 90 -
1.%ad A.B.C
Pdd E.A
.&ad B.D
4.%4ad C.D
Options :
68634089373, 1
68634089374. 2

68634089375. 3
68634089376. 4

-

L

Question Number : 45 Question Id : 68634022619 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Write the correct sequence for the steps involved m Planning:

A. Establishment of objectives
B. Assessment of resources

C. Analysis of health situation
D. Preparation of alternate plans

1.C.B.D. A

| ]

.C.A.B.D
3.B.A.C.D
4 A B.C.D

Options :

68634089377. 1
68634089378. 2
68634089379. 3
68634089380. 4



Question Number : 45 Question Id : 68634022619 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
o1 H FEed =Rl B hHeg Hifeld:-
A, IeTl D W]
B. 1T T Jedih
C. Wred fRyfd &1 faxeyo
D. 3B e A= I

i 60 770 fdded! H U 9l 3 &1 994 DIoll:-

1.C.B,D. A

|

.C.A.B.D
3. B.ACD

4 ABCD

Options :

68634089377. 1
68634089378. 2
68634089379. 3
68634089380. 4

Question Number : 46 Question Id : 68634022620 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are not correct with respect to our eyes

A. Each eye has 120M rods. which help us to distinguish colours

B. Cones in our eye help us to see black and white

C. The minimum distance required to see objects clearly by a normal eye is 25¢m which 18 called distance
of distinct vision

D. If you can't see the far away objects clearly. you are suffering from Myopia

LA B&D

[

.B & C Only
3.A & B Only
4.B. C & D Only

Options :

68634089381. 1
68634089382. 2
68634089383. 3
68634089384. 4



Question Number : 46 Question Id : 68634022620 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Pad B AR C

. $dd A AR B

4, $adAB. C 3R D

Options :

68634089381. 1
68634089382. 2
68634089383. 3
68634089384. 4

[ S

L

Question Number : 47 Question Id : 68634022621 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following in the right sequence for 'Global Warming'

A. Release of CO, CFCs and other green house gases.

B. Increase of temperature of atmosphere due to Green House Effect.
C. Burning of fuel. deforestation and excessive use of Automobiles.
D. This leads to Global Warming which has many undesirable effects.
E. Melting of Glaciers, climate change and floods.

1.C.B.A.D.E
2.CAB.D/E
3.A,C.B,D.E

4. B.A.C.D.E

Options :

68634089385. 1
68634089386. 2
68634089387. 3
68634089388. 4



Question Number : 47 Question Id : 68634022621 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFafead Syl B dfie® duswa & 9|y § Ugl 9 gaieid Bifeg|

A. CO, T T YT 3= U1 8189 191 &1 Ffe
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D. U8 Tigd aifd &idl ¢ e &g fdifed aRuma sld &
E. TR &1 g, Siadrg gikadd aul arg

i f3U 70 fJadedl § U Tl ST &1 9494 Biel:-

1.C.B.A.D.E

| ]

.C,A.B.D,E
3.A,C.,B.D.E

4 B.ACD.E

Options :

68634089385. 1
68634089386. 2
68634089387. 3
68634089388. 4

Question Number : 48 Question Id : 68634022622 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What does CCBM stands for

1. College of Cellular and Molecular Biology

()

. Centre for Cellular and Molecular Biology
3. Centre for Cellular and Metabolic Biology

4. College for Cellular and Metabolic Biology

Options :

68634089389. 1
68634089390. 2
68634089391. 3
68634089392. 4

Question Number : 48 Question Id : 68634022622 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4. Bl BR Yeger Us Herdifers arrdrd

Options :

68634089389. 1
68634089390. 2
68634089391. 3
68634089392. 4

Question Number : 49 Question Id : 68634022623 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Filing. Indexing and Retrieving records work is carried in

1. Medical records department

[

. Mamtenance department

s

. Therapeutics

4. Administration department

Options :

68634089393. 1
68634089394. 2
68634089395. 3
68634089396. 4

Question Number : 49 Question Id : 68634022623 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
BTsfon SefadT s el urd &3 &1 & g faunT § fsar srar g2
1. Bf&ged RepTs faum
. & faum .
3. Fafdan
4, g fqum,

Options :
68634089393. 1

-



68634089394. 2
68634089395. 3
68634089396. 4

Question Number : 50 Question Id : 68634022624 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is NOT a National Health Scheme of India

1. UHIS

2

CAABY

s

. Aayushman Bharat

4. SMILE

Options :

68634089397. 1
68634089398. 2
68634089399. 3
68634089400. 4

Question Number : 50 Question Id : 68634022624 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFrafeiEd & 9 S 9 ue YR AP W e T8l 62

1. UHIS

)

. AABY

ST YRA

4, SMILE

L% ]

Options :

68634089397. 1
68634089398. 2
68634089399. 3
68634089400. 4

Question Number : 51 Question Id : 68634022625 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Isotransplants are done between the

1. identical twins

()

. man and animal
3. two siblings

4, man and woman

Options :

68634089401. 1
68634089402. 2
68634089403. 3
68634089404. 4

Question Number : 51 Question Id : 68634022625 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gyeiy@ie fa-d qen fFar Siar 8
. 3TGH! qUTwig

AR LR

4. g5 Ul 1.

—
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L

Options :

68634089401. 1
68634089402. 2
68634089403. 3
68634089404. 4

Question Number : 52 Question Id : 68634022626 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What are the three P's in 'Triple Bottom Line Principle'?

1. People. Profi. Planet

()

. People. Power, Production
3. Public. Planet, Productivity

4. Public. Production. Profit

Options :
68634089405. 1
686340894006. 2



68634089407. 3
68634089408. 4

Question Number : 52 Question Id : 68634022626 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
feud dieq arga eid A dH ps |1 32
1. Ui, Hifthe, ©ie
4, Ufedie, UISaRMA, Uilbe

Options :

68634089405. 1
68634089406. 2
68634089407 3
68634089408. 4

| ]
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Question Number : 53 Question Id : 68634022627 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The fullform of FSMA(2011) 1s:

1. Food Security Managamenet Act

()

. Food SafetyModernization Act

. Food Supply Management Act

L%

4. Food Service Management Act

Options :

68634089409. 1
68634089410. 2
68634089411. 3
68634089412. 4

Question Number : 53 Question Id : 68634022627 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340894009. 1
68634089410. 2
68634089411. 3
68634089412. 4

Question Number : 54 Question Id : 68634022628 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The first Pharmacy council was constituted by Central Govt in the year
1. 1959
2. 1969

. 1960

s

4.1949

Options :

68634089413. 1
68634089414. 2
68634089415. 3
68634089416. 4

Question Number : 54 Question Id : 68634022628 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T BTG PSR &1 7164 $8 ROR gRI5Y gy o faegr 7

1. 1959

)

. 1969

. 1960

Lad

4. 1949

Options :
68634089413. 1
68634089414. 2



68634089415. 3
68634089416. 4

Question Number : 55 Question Id : 68634022629 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Glasgow Climate Pact signed 1n 2021, urges countries to move towards net zero emissions by or around:
1.2030

2. 2035

4. 2050

Options :

68634089417. 1
68634089418. 2
68634089419. 3
68634089420. 4

Question Number : 55 Question Id : 68634022629 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR STeTaTg WA UR 2021 H GAIER gl Sl =il &l d% e SIRI Sefoi B B SR
3FRR B ©

1. 2030
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4. 2050

Options :

68634089417. 1
68634089418. 2
68634089419. 3
68634089420. 4

Question Number : 56 Question Id : 68634022630 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What colour dustbin 1s used for hazardous waste from hospital?

1. Red

()

. Blue
3. Transparent

4. Green

Options :

68634089421. 1
68634089422 2
68634089423. 3
68634089424. 4

Question Number : 56 Question Id : 68634022630 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ST & BTHPRS Ry & 1w o 9 31 &1 swefaq yam fear e g
1. 9T,
e
4.8

Options :

68634089421. 1
68634089422 2
68634089423. 3
68634089424 4

[ ]

L

Question Number : 57 Question Id : 68634022631 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which instrument is used to check blood pressure?

1. Oximeter

[

. Glucometer

L ¥]

. Sphygmomanometer

4, Reflex hammer

Options :
68634089425. 1
68634089426. 2



68634089427. 3
68634089428. 4

Question Number : 57 Question Id : 68634022631 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
I F USRI o 919 A9 o AT g1 foba S 6
1. STHTHER

 T[PIHIET.
AR
4. RoRieq g2

Options :

68634089425. 1
68634089426. 2
68634089427. 3
68634089428. 4

| ]

[ 5]

Question Number : 58 Question Id : 68634022632 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Death 1n India must be registered within
1. 15 days
2. 21 days
3. 10 days
4. 30 days

Options :

68634089429. 1
68634089430. 2
68634089431. 3
68634089432 4

Question Number : 58 Question Id : 68634022632 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HRd H g oo &A1 & &I dolied @i ot I1fe
1.15fe=
2.21189
3. 10187
430

Options :

68634089429. 1
68634089430. 2
68634089431. 3
68634089432. 4

Question Number : 59 Question Id : 68634022633 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The proportion of cases of specified disease or condition which are fatal within specified time:

1. Morbidity rate

()

. Mortality

. Natality

]

4. Case fatality rate

Options :

68634089433. 1
68634089434. 2
68634089435. 3
68634089436. 4

Question Number : 59 Question Id : 68634022633 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
faTRIy IRT A1 ST & Bl BT UM &l U Fog qma J e sid &
1. SRTRAT R
YR
SR

| ]
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4. Y UTaHdl &3,

Options :
68634089433. 1



68634089434. 2
68634089435. 3
68634089436. 4

Question Number : 60 Question Id : 68634022634 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Occurence in the community of a number of cases of disease that 1s unusuvally large or unexpected and
happens in different parts of world at same time.

1. Endemic

2. Pandemic

Laa

. Epidemic

4. Infection

Options :

68634089437. 1
68634089438. 2
68634089439. 3
68634089440. 4

Question Number : 60 Question Id : 68634022634 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634089437 1
68634089438. 2
68634089439. 3
68634089440. 4

Question Number : 61 Question Id : 68634022635 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A person suffering with 'renal failure’ should visit which department in Hospital.

1. Neurology

()

. Cardiology
3. Urology
4. Anesthesiology

Options :

68634089441. 1
68634089442. 2
68634089443. 3
68634089444, 4

Question Number : 61 Question Id : 68634022635 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a8 e foreebl fors i Ul B1 715 © 94 3T & [y [aHTT H ST =fe U,
1. RIS

pIfSyraret,

3. RIS,

4, TARYREGTETST,

Options :

68634089441. 1
68634089442 2
68634089443. 3
68634089444. 4

| ]

Question Number : 62 Question Id : 68634022636 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Disaster Management Cycle does not include:

1. Preparation

()

. Mitigation

L%}

. Response

4. Funding to affected people

Options :
68634089445. 1
68634089446. 2



68634089447. 3
68634089448. 4

Question Number : 62 Question Id : 68634022636 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TSI HaY 9% § a1 Sflfaa el g 2
1. ﬁcl 353
4. 9u1fad @il &1 s YeTadl waH &

Options :

68634089445. 1
68634089446. 2
68634089447. 3
68634089448. 4

| ]

L¥¥]

Question Number : 63 Question Id : 68634022637 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one is not a type of blood test?
1. Lipid profile
2. ECG

. FBC

s

4. BNP

Options :

68634089449. 1
68634089450. 2
68634089451. 3
68634089452. 4

Question Number : 63 Question Id : 68634022637 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frferad o 9 & 91 U Jad e T8l 82
fofus diwrsa.

.ECG

[r—y

| ]

3. FBC

4. BNP

Options :

68634089449. 1
68634089450. 2
68634089451. 3
68634089452. 4

Question Number : 64 Question Id : 68634022638 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Attention Deficit Hyperactivity Disorder (ADHD) 1s:

1. Common disorder in adults

[ )

. Common neurological disorder of childhood
3. Common disorder in pregnant ladies

4. Common disorder in adult males

Options :

68634089453. 1
68634089454 2
68634089455. 3
68634089456. 4

Question Number : 64 Question Id : 68634022638 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ADHD (37¢¥H Sfthie gemRulaeide! BHaie) B
1. 9080 H 9 [deR
. §9U &I GH dE®Y fdeR
3. mfach Bigars & gH= fdeR
4, IO SN 1 A f[AdR
Options :

68634089453. 1
68634089454. 2

()



68634089455. 3
68634089456. 4

Question Number : 65 Question Id : 68634022639 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Lice are not vectors of:

[y

. Relapsing fever

[ E]

. Q Fever

. Trench Fever

]

4. Epidemic Typhus

Options :

68634089457. 1
68634089458. 2
68634089459. 3
68634089460. 4

Question Number : 65 Question Id : 68634022639 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[a—y

fReifdi (@R-ER g1 ardn) §E@R
. Q-gER
4. TEHY HEMRI

Options :

68634089457. 1
68634089458. 2
68634089459. 3
68634089460. 4

| ]

L]

Question Number : 66 Question Id : 68634022640 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following 1s not a method of family plannmng?

1. Vasectomy

()

. Copper-T

. Endoscopy

]

4. Tubectomy

Options :

68634089461. 1
68634089462. 2
68634089463. 3
68634089464. 4

Question Number : 66 Question Id : 68634022640 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Frafafadd 3 $ o ufar Faee o1 ue B T8 e

1. g8gcH!

PR
4. Eqafﬁ 4

Options :

68634089461. 1

68634089462. 2

68634089463. 3
68634089464. 4

| ]

L]

Question Number : 67 Question Id : 68634022641 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
Heart Disease I [Sugar
Diabetes II. |Alcohol

Cirthosis of Liver] II1. [Cholesterol
Foad Accident IV, [Non-use of seat belt

o[ ofw[>

Choose the correct answer from the options given below:

1. A-IIL, B-11, C-IV, D-I

| ]

CA-IIL B-1L C-I1L D-IV
3. A-IL. B-I. C-IV. D-II1

4. A-II. B-IV. C-III. D-I

Options :

68634089465. 1
68634089466. 2
68634089467. 3
68634089468. 4

Question Number : 67 Question Id : 68634022641 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt 191 = 11 ¥ e Sifse
T 1 = 1T
A Bea I L [
B. [iHE IL. [dehiglad
C lmpd=ny 1L [@ldeid
D_[g8o guedl |1V [Hie gec &1 3Udi 7 H1

FEfaRad e edl § 9 9ol 3 &1 994 S0

1. A-IIL. B-II. C-IV, D-I

[ ]

AT B-1L C-ILL, D-IV
3. A-IL B-1. C-IV, D-III

4. A-I1. B-IV. C-IIIL D-I

Options :

68634089465. 1
68634089466. 2
68634089467. 3
68634089468. 4



Question Number : 68 Question Id : 68634022642 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Sand Fly I. PMalania
B. PMosquito II. [Epidemic Typhus
C. [Louse IT1. |[Tyvphoid
D). [House Fly IV |Kala Azar

Choose the correct answer from the options given below:

1. A-IV. B-1. C-II. D-III

)

A-IIL B-IL C-I. D-IV

. A-IL. B-1. C-III. D-IV

Laa

4. A-1, B-1I, C-11. D-IV

Options :

68634089469. 1
68634089470. 2
68634089471. 3
68634089472. 4

Question Number : 68 Question Id : 68634022642 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 1 B YA 1 F HaH Sy
T 1 = 1
A [Ty I [AaRar
B. [=t 1L [Femr] @Uef®) cRmy
C. [{ 1L [e3hIgs
D. [Fedl IV. [BIal- e’
FFaferiad faeedl § U Tg! 3R &1 904 I :

1. A-IV, B-I, C-II. D-III

[ ]

CA-IIL B-IIL C-L, D-IV

. A-IL. B-1. C-III. D-IV

faa

4. A-I, B-II., C-I11, D-IV

Options :

68634089469. 1
68634089470. 2
68634089471. 3



68634089472. 4

Question Number : 69 Question Id : 68634022643 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A JAnthropologist [. [Human relationship and behaviour
B. PMedical Social Worker| II. [Elderly care
C. |Sociologist II1. [Counselling of patients
D |Genatrician IV |Phwvsical. social, cultural history of man

Choose the correct answer from the options given below:

1. A-I. B-III, C-IV, D-II,

| )

. A-IL B-IV, C-1. D-III

CA-IV, B-III. C-I. D-II

Laa

4. A-II1. B-IL. C-1. D-IV

Options :

68634089473. 1
68634089474. 2
68634089475. 3
68634089476. 4

Question Number : 69 Question Id : 68634022643 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 11 g 11 9 fieiH Bifse
T 1 g 1
A [qHa fag I [ 9de 3R s9aeR
B. [[afde wmiiore edad | 1. [§97 @l qayTd
C. [grifa® sEddl 111 Rl &1 taEe ¥al
D. [Gidid o (TRUCRET)| IV. [oiad &1 Hifdd, IHifid HX 9iEhidd 3ided
FFafeRad fasedl § 9 I8! 3R &1 994 I -

1. A-I, B-III. C-IV, D-II,

-

CA-IL B-IV. C-1L D-III

A-IV, B-II1, C-I, D-II

g

4. A-ITT. B-1IL. C-1, D-IV

Options :
68634089473. 1



68634089474. 2
68634089475. 3
68634089476. 4

Question Number : 70 Question Id : 68634022644 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

LISTI LISTII
(Glass waste [. [Yellow Bag (container)
Sharp and metal waste | II. |Eed Bag {container)
Human anatomical waste] I [Blue Bag (container)
Contaminated waste IV, |[White Bag (container)

o[ ofw[>

Choose the correct answer from the options grven below:

1. A-IV. B-1. C-III, D-II

)

A-IL B-1. C-IV, D-III
3. A-IL. B-IV. C-II1, D-1
4. A-III, B-1V, C-1, D-II

Options :

68634089477. 1
68634089478. 2
68634089479. 3
68634089480. 4

Question Number : 70 Question Id : 68634022644 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= 191 41 11 9 B Hifee

T 1 T I
DI SHURE L [didT &7 (TH)
U AR uifcdd Uy 1L [ara &7 (am)
T TR oAy | I [Hiar &4 e
g d Uy IV. [qha &7 (IT)

fFafead fAeedl § O T8l IO &1 904 i -

1. A-IV, B-I, C-I1I, D-II

ofo=]s

)

A-IL B-L. C-IV, D-III

CA-TL B-IV, C-II1L, D-I

L

4. A-ITT. B-1V, C-1, D-II



Options :

68634089477 1
68634089478. 2
68634089479. 3
68634089480. 4

Question Number : 71 Question Id : 68634022645 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

LISTI LISTII
A |Urinary tract infections [. |Ventilator associated
B. |Surgical site infections II. [Contaminated gloves
C. |Pneumonia ITT. |Catheter insertion
D. |Vascular device infections| IV, loperation and wounds

Choose the correct answer from the options given below:

1. A-I. B-II. C-IIL. D-IV

| )

CA-IL B-IV, C-1, D-II
3. A-IV. B-III. C-II. D-I

4. A-IV. B-1, C-III. D-III

Options :

68634089481. 1
68634089482. 2
68634089483. 3
68634089484. 4

Question Number : 71 Question Id : 68634022645 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ty

a1 1 gl 1 ¥ e o

T 1 q=l I
A [FF T (UTD 1. [dicie Haf=a
B. [reaiordn =yd I | 11 [Heltd a&dH
C. [=Hiar 1L [FErea (@ Ues) Uiaiy]
D. [gag-] 3usu oau]| IV. [3HUEH AR 919

FEfaRad e edl § 9 9ol 3 &1 994 S0

1. A-I. B-II. C-III. D-IV

[ ]

AL B-IV. C-1, D-II
3. A-IV. B-IIL. C-II. D-I

4. A-IV, B-1. C-III. D-III

Options :

68634089481. 1
68634089482. 2
68634089483. 3
68634089484. 4

Question Number : 72 Question Id : 68634022646 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

LISTI LISTII
A PMDGI I. [Combat HIV/AIDS
B. DMDG4 II. |lmprove Maternal Health
C. MDG3 IT1. [Eradicate Poverty and Hunger
D. PMDGo IV. [JReduce Child Mortalitv

Choose the correct answer from the options given below:

1. A-I. B-III. C-IV, D-II

| ]

CA-IL BA-IOLL C-1L D-IV
3. A-IL B-IV, C-I1, D-1

4. A-IV. B-II. C-I. D-III

Options :

68634089485. 1
68634089486. 2
68634089487. 3
68634089488. 4



Question Number : 72 Question Id : 68634022646 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 191 g1 11 9 fierH Sifse
T = I
A MDGI I [HIV/AIDS U Oohladl
B. pMDG4 1L [ATdw el H §4R
C. MDGs 1L [fRIE] R a3
D. [MDGS6 IV. [RRI g X | @
frrafead faseal & T T8t SR &1 99 ST -

1. A-I, B-II1. C-IV, D-IT

[ ]

CA-IL B-IIL C-IL, D-IV

. A-IILL B-IV, C-IL. D-I

faa

4. A-IV, B-II., C-1. D-III

Options :

68634089485. 1
68634089486. 2
68634089487. 3
68634089488. 4

Question Number : 73 Question Id : 68634022647 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LIST IT
A JPLANNING I. [Recruitment of training officer
B lorcanisme | Process of taking feedback and looking
at the plans

Preparing annuval and mid-term

C. |[STAFFING N1 i
objectives of department

D. lconTrOLLING] v Determining what ‘:\'ork_ needs to be done
to accomplish goals

Choose the correct answer from the options given below:

1. A-IIL. B-IV. C-I, D-II

()

. A-L B-IIL. C-IV. D-III

. A-IIL B-I. C-II. D-IV

Laa

4. A-II. B-I'V. C-III, D-I

Options :
68634089489. 1



68634089490. 2
68634089491. 3
68634089492. 4

Question Number : 73 Question Id : 68634022647 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 191 =1 11 9 Her Sy

T 1 GGl
Qe aAE] | L [rdaridr ot YUl gyt miRia
TTiad D1 | 1L [G191 &1 681 AR BiSgd o 31 Uishdl
s Fgfdd (1L [lqurT & Aardriig SR aibe] Sgxal &l JUR Bl
EnE IV. [qeat &t Uit o o o &1 01 91 8. SHS] YR &3l

fFafead fAeedl § O T8l IO &1 904 i -

1. A-IIL. B-IV, C-1, D-II

Q|| e

[ )

A-L. B-IL. C-IV, D-III

A-IIL B-1. C-I1. D-IV

L

4. A-I1. B-IV, C-I11, D-I

Options :

68634089489. 1
68634089490. 2
68634089491. 3
68634089492. 4

Question Number : 74 Question Id : 68634022648 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Biomedical concept of health is based on soecial and psychological factors.
Statement IT: Biomedical concept of health is based on germ theory of disease.

In the light of above statements, choose the correct answer from the options given below.

1. Both Statement I and Statement IT are true

()

. Both Statement I and Statement IT are false

. Statement I is true but Statement II 1s false

L]

4, Statement I 1s false but Statement IT 1s true

Options :
68634089493. 1



68634089494. 2
68634089495. 3
68634089496. 4

Question Number : 74 Question Id : 68634022648 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬁﬁ‘cﬁwﬁqmﬁ%:-

YA I: WG I ool SGYRUN BT YR AT SIS qUT FA01-® Ued o
HY I1: W B SdIehed GRS SR 17 BT o RIgid g |

SRId HYT F ATAD 5, 1= U 0 Fea & I Ig) SR &1 997 S

1. FUTI AR PUT I S TT &

| )

YT AR DY AT ST S

YT I 5. AT BUT I ST

[#¥]

4 P HTI L. AT YT I ©

Options :

68634089493. 1
68634089494. 2
68634089495. 3
68634089496. 4

Question Number : 75 Question Id : 68634022649 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which 1s the correct full form of DDT?

1. Dichloro Di-phenyl - Trichloroethane

[ E]

. Di-10do Diphenyl - trichloromethane

L%}

. Di-bromo Diphenyl trichloroethane

4. Di-flouro Di-acetyl tri chloromethane

Options :

68634089497. 1
68634089498. 2
68634089499. 3
68634089500. 4

Question Number : 75 Question Id : 68634022649 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
[Fafaad o ¥ DDT 1 gUiET 3
1. SIEFIRI SIS BSd- CIgFR] 54

. SIS H1ZS! - SISPAE - ZeddR] {HUT
3. 1% Sl SEpEd CEaaR 52

4. 513 WIRI SI3URCRd greaanl Hdq

Options :

68634089497. 1
68634089498. 2
68634089499. 3
68634089500. 4

| B

Question Number : 76 Question Id : 68634022650 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which 15 the basic genetic material for man and virus?

A DNA
B.RNA
C. Lipid
D. Fat

E. Protein

Choose the correct answer from the options given below:

1. A. B and D only

| ]

. A and B only
3. C and D only

4. A and E only

Options :

68634089501. 1
68634089502. 2
68634089503. 3
68634089504. 4

Question Number : 76 Question Id : 68634022650 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Oa qT aERE (Fum) & [T SiRyd STaiRe uanl 98

A SITAT.
B. 3R, U4. T,
c.

D. 991

E UeH

i 50 70 [ddedl | ¥ 9ol 39 & 99 Sl
1. A, B R D

Had A 3N B

. %ad C ARD

4.%9d AJRE

Options :

68634089501. 1
68634089502. 2
68634089503. 3
68634089504. 4

2

[#5]

Question Number : 77 Question Id : 68634022651 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Graphic presentation of health statistics are:

A. Paired 'T" test

B. Regression Analysis
C. Histograms

D. Bar charts

E. Pie charts

Choose the correct answer from the options given below:

1. A, C and D only

| )

.B. C and D only
3.C.D and E only

4.B. D and E only

Options :

68634089505. 1
68634089506. 2
68634089507 3
68634089508. 4



Question Number : 77 Question Id : 68634022651 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
WY Hifere! &1 Aithe Ta=H B o:

A T T-IRI&01
B. JHHTUT fagewo (RURE TAIeE)
c. fgeum
D. §R 91¢
E. Oisarc
I feu v faweat § © wet IR &1 999 Sifei
1.%dd A.C 3IRD
HIAB, C ARD
. $adC, D IR E

4, HIAB.D IR E

Options :

68634089505. 1
68634089506. 2
68634089507 3
68634089508. 4

-
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Question Number : 78 Question Id : 68634022652 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The chronological sequence of discovery of following Biomedieal equipments is:

A CT-Scan

B. Ulira sound scan
C. X-ray

D. MRI

E. PET-CT Scan

Choose the correct answer from the options given below:

LEADB,C

| ]

.B.C.D.AE
3.E.C.B.A.D

4.C.B.A.D.E

Options :
68634089509. 1
68634089510. 2



68634089511. 3
68634089512. 4

Question Number : 78 Question Id : 68634022652 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

s [ =y o e W e ¥

Hafaiads dEHisHd SURl & 31d HADR & SId HHMIR Iy SIfT:

A 2 A

B. 3{cCl W13 S Wb
C. X-d 0]

D. MRI

E. PET-CT &b+

Hid 30 770 fdded H ¥ 9ol 3R &1 99 Bl

1.LELA.D.B.C

[ ]

B E D ALR
3.)EEC.B.A.D

4.C.,B.A.D.E

Options :

68634089509. 1
68634089510. 2
68634089511. 3
68634089512. 4

Question Number : 79 Question Id : 68634022653 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the following management process 1n correct sequence:

A Planning
B. Leading
C. Organizing
D. Controlling
E. Staffing

Choose the correct answer from the options given below:

1LE.D.C.A.B

| ]

.D.B.A.C.B
3ACLE.B.D

4 A B CD.E

Options :



68634089513. 1
68634089514. 2
68634089515. 3
68634089516. 4

Question Number : 79 Question Id : 68634022653 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y&+ Ufchdr & =R07 6l hHdg Hifold

A, Il

B. g

C. TIIfdd DA
D. [Fg=m

E. I

qid 30 770 fdded § ¥ 9ol 3w &1 94U Bl

1.LE.D.C.A.B

[ ]

D.B,A,C,B
33JAOCE.B.D

4.A.B.C.,D.E

Options :

68634089513. 1
68634089514. 2
68634089515. 3
68634089516. 4

Question Number : 80 Question Id : 68634022654 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and the other 1s labelled as Reason R.
Assertion A: Emotional intelligence has components like Empathy, Motivation and Social skills.
Reason R: Emotional intelligence is one of the essential competency of hospital management.

In the hight of above statements. choose the correct answer from the options given below.

1. Both A and R and true and R 1s the correct explanation of A

()

. Both A and R and true and R 1s NOT the correct explanation of A

. A 1s true but B 1s false

Laa

4. A is false and R 1s true

Options :



68634089517. 1
68634089518. 2
68634089519. 3
68634089520. 4

Question Number : 80 Question Id : 68634022654 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1 21 Y ST E: U HUBUT (Assertion A) B TG T (R0 & I 8 IHP PRUI (Reason R) B =9 T
3%$%ﬂﬁyﬁﬁmmﬁyaﬁﬁméﬂﬁﬁaafﬁﬂﬁﬁmamﬁmﬁquﬁwmﬁﬁ%|
HRU (R): HIHS g SIS UaHd $i HagD & § YU
SIS HYH & Tl H, H f3u M fadedl § 9 969 Iuged 3R &1 999 Hifoy

1. AMR R A TA E 3R R, A DI Tl T\ &

ANRR G UT E. AP R, A P! U] IRe e &

[ ]

ATIE. AfFTR IMAR

L

4 ANTIE APIR TS

Options :

68634089517. 1
68634089518. 2
68634089519. 3
68634089520. 4

Question Number : 81 Question Id : 68634022655 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other 15 labelled as Reason R.

Assertion A: Hospital Management system enables hospital with a centralized platform to manage their
operations.

Reason R: HMS delays mundane processes and creates confusion in communication.

In the light of above statements, choose the correct answer from the options given below.

1. Both A and R and true and R is the correct explanation of A

()

. Both A and R and true and R 1s NOT the correct explanation of A
3. Ais true but R is false

4. A is false and R 1s true



Options :

68634089521. 1
68634089522 2
68634089523. 3
68634089524. 4

Question Number : 81 Question Id : 68634022655 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- & HUH AU §: TP SMUHYUT (Assertion A) & =0 F [AIRAT 3 ol GERT 3HP BRUI (Reason R) & =0 H

HTUBUT (A): AT Ha=H TR 3TATA Bl 3HB! Sha13fl B Uaied &3 & [0 TP Dlsa
e WaH Pl ¢ |

TR (R): HMS a0 Hicparsl § & 941 99R H sraroe & fRufd sarar g

SRIGd HYF & 3T T, 9 fdu v 9ot § 9 98l STx &1 98 Sifoe

1. AR R GHI U § 3R R. A & Tg! AT ©

[ ]

AR R S 9@ 8, AfT R, A BT 981 AR a1 &

3. A9d e, WfPAR 3T E

4 A3 dfPIR O

Options :

68634089521. 1
68634089522. 2
68634089523. 3
68634089524. 4

Question Number : 82 Question Id : 68634022656 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one 1s labelled as Assertion A and the other 1s labelled as Reason R.
Assertion A: In India. National Bureau if Blood Banks regulates the blood banks.
Reason R: License is needed for operating a blood bank.

In the light of above statements, choose the correct answer from the options given below.

1. Both A and R and true and R 1s the correct explanation of A

()

. Both A and R and true and R 1s NOT the correct explanation of A
3. A 1s true but R 1s false

4. A is false and R 1s true



Options :

68634089525. 1
68634089526. 2
68634089527. 3
68634089528. 4

Question Number : 82 Question Id : 68634022656 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- & HUH AU §: TP SMUHYUT (Assertion A) & =0 H [AIRAT 8 o GERT 3HP HRUI (Reason R) & =0 H

SHTPUT (A): YRE B TS dp! T FOE SR SR 316 &S db Bl 3 |
PR (R): UH &S dp & TaIa- & 60 dsa-g & ATagHdl gidi o
SRITT YT & TS 4, Aid G0 70 f[Ipedi § ¥ 9ol 3R BT 904 il

AR R A GO E AR R AT Tel AT ©

-

[ ]

AR R S A §, AfPT R, A BT T8I AR 51 ©

3. A9, OfPIR M T

4 ATAE. UfPIR TAE

Options :

68634089525. 1
68634089526. 2
68634089527. 3
68634089528. 4

Question Number : 83 Question Id : 68634022657 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following events for the designed hospital management.

A. Dispense deug

B. Patient Card login

C. Visit to pharmacy

D. Disease diagnosed

E. Consultation with doctor

Choose the correct answer from the options given below:

LAB,C,IDE

| ]

BB G0 A
3.AE,D.B,C

4 E.D.C.B.A

Options :

68634089529. 1
68634089530. 2
68634089531. 3
68634089532. 4

Question Number : 83 Question Id : 68634022657 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Faferad wers & Hfiefeud e Ye=H & JJHR Hafid S

A feoiad
Tt TS AT EA

C. B ST

D. I &1 HaH (STad)

E. Sidc Pl qdle

1. AB.C.D.E

-J

.B,E,D,C, A
3LAE DB C

4.E,D,C,B,A

Options :

68634089529. 1
68634089530. 2
68634089531. 3
68634089532. 4

Question Number : 84 Question Id : 68634022658 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one 1s labelled as Assertion A and the other 1s labelled as Reason R.
Assertion A: Waste produced in the course of health care activities carries a higher potential for infection.
Reason R: It is essential to have safe and reliable method for waste handling.

In the light of above statements, choose the correct answer from the options given below.

1. Both A and R and true and R 1s the correct explanation of A

()

. Both A and R and true and R 1s NOT the correct explanation of A

. A 1s true but B 1s false

Laa

4. A is false and R 1s true

Options :

68634089533. 1
68634089534. 2
68634089535. 3
68634089536. 4

Question Number : 84 Question Id : 68634022658 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

e U R 8. U9 HfUGUT (Assertion A) & &0 T ffEd € O §TU 39 BRI (Reason R) & TIH .
STUFYT (A): TRYY c@HId Al & GRE Jdad SHUiRIE J YHHU 9Ul die Uga- & 3 YHIE 8ldl o
HRT (R): AP Haer & o Wiga qur wRias faft & srazgsdi sidi )
SWRIGd YA o SA1elie A, e G e ol d § 98l Sue. @1 99 Pifei

1. ASTR R Gl 9 € SR R, A BT WET AT &

2. AR R ST W §, AP R, A B AE AT TET #

3.A9EE dfFTR TR

4 AR, AFTRETE

Options :

68634089533. 1
68634089534. 2
68634089535. 3
68634089536. 4

Question Number : 85 Question Id : 68634022659 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The department in the hospital which looks after the function of sterilization of equipments 1s:

1. Operation theatre

()

. Standard sterilising agency
3. Central Sterile Supply department

4. Linen and Laundry department

Options :

68634089537. 1
68634089538. 2
68634089539. 3
68634089540. 4

Question Number : 85 Question Id : 68634022659 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IRTATS B I8 AT ST IUBRUIT & fAUHHY BT SHHT HT ¢
. TR fiueR
=1y e srgfd faum

4. T SR At faum

Options :
68634089537. 1
68634089538. 2

68634089539. 3
68634089540. 4

—

[ )

(%]

Question Number : 86 Question Id : 68634022660 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The major cause of antimicrobial resistance 1s:

1. Poor patient compliance

[

. Counterfeit drugs
3. Uncontrolled and mnappropriate use of antibiotics

4, Sound alike and look alike medicine

Options :
68634089541. 1
68634089542. 2



68634089543. 3
68634089544. 4

Question Number : 86 Question Id : 68634022660 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl eHoidl HioRIeaT 1 {3 SRUI 5-
TRIE AT GRT Sdre
el 3¢
SR 31 o iR s

4, e o1 fawe @ A aril -] Sl gan

[r—y

| ]

[ 5]

Options :

68634089541. 1
68634089542. 2
68634089543. 3
68634089544. 4

Question Number : 87 Question Id : 68634022661 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In which case a person does not to be admitted immediately in trauma centre?

1. On falling down

[

. Tuberculosis

. Motor vehiele collisions

s

4, Gun shot wounds

Options :

68634089545. 1
68634089546. 2
68634089547. 3
68634089548. 4

Question Number : 87 Question Id : 68634022661 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o0 9 forg Fufa o oofdd &t aoTa o Hex 5 Ydl 3 & 3a<addl ol 67
1L R
| TSRS (&7 )

e dleA! @ o
4. §¢ I Tcil & °Id

Options :

68634089545. 1
68634089546. 2
68634089547. 3
68634089548. 4

| ]

[ 5]

Question Number : 88 Question Id : 68634022662 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The department in the hospital which 1s primarily involved in supply and distribution of medicines 1s:
1. Pharmacy
2. O.P.D. services
3. Canteen services

4, Admission services

Options :

68634089549. 1
68634089550. 2
68634089551. 3
68634089552. 4

Question Number : 88 Question Id : 68634022662 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SRTATE 1 a8 AT S 987 39§ Siufee #1 omafif oz faawo & afafea 3
1. BTHE
.O.PD. Jau
4, Hdf Tam

Options :
68634089549. 1

2

L)



68634089550. 2
68634089551. 3
68634089552. 4

Question Number : 89 Question Id : 68634022663 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The annual expenditure and revenue of the hospital or any organisation 1s stated i

1. Finanece Bill

2

. Letter of Credit

. Debit Note

s

4. Budget

Options :

68634089553. 1
68634089554. 2
68634089555. 3
68634089556. 4

Question Number : 89 Question Id : 68634022663 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[T SFETa a1 30 TR &1 afie S0-200 & Hed o-

1. fot fagas

)

RSIECREE

EURE

Lad

4. dulc

Options :

68634089553. 1
68634089554. 2
68634089555. 3
68634089556. 4

Question Number : 90 Question Id : 68634022664 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Nursing as a profession was developed by:

1. Elizabeth Forster

| )

. Florence Nightingale
3. Raj Kumari Amrit Kaur

4 Ida Scudder

Options :

68634089557. 1
68634089558. 2
68634089559. 3
68634089560. 4

Question Number : 90 Question Id : 68634022664 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[ G TR s ¥

T U soaa & w9 | fas g foear mar ur
 UfrSTsY IR gRT

. TR TfeTd g1

PHRT SHTPR R

4. SE PG

Options :

68634089557 1
68634089558. 2
68634089559. 3
68634089560. 4

[—

| ]

Lad

Question Number : 91 Question Id : 68634022665 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not an eye care term>

1. Rhinitis

()

. Cataract
3. Conjunctiva

4. Glaucoma

Options :
68634089561. 1
68634089562. 2



68634089563. 3
68634089564. 4

Question Number : 91 Question Id : 68634022665 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AR & S 91 A9-5@HTd &1 U&/sE 1o 67
1. AR e
. Fevac
3. Pollgear
4, TIHMI

Options :

68634089561. 1
68634089562. 2
68634089563. 3
68634089564. 4

| ]

Question Number : 92 Question Id : 68634022666 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select the correct statements:

A Incineration 1s a high temperature dry oxidation process to reduce organic waste
B. Incineration is highly recommended for hospital waste disposal.

C. It 15 done to treat waste that cannot be recycled. reused or disposed off in landfills.
D. Incineration 1s not recommended for organic infectious waste.

Choose the correct answer from the options given below:

1. A, C and D only

)

.B, C and D only

T

. A B and C only

4. A. B and D only

Options :

68634089565. 1
68634089566. 2
68634089567 3
68634089568. 4

Question Number : 92 Question Id : 68634022666 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Yol HYHl &1 99 DIfoL;

A. HHIHR0] U I A1 [ B0 UichdT § ol {Fi-e S9RIy &I el §

B. 3EgdTa SRy Haer & U g ysfieo 31 9w & & o

C. T8 3 US| &1 e &l § ST Yae U g1 GH3UanT a1 oS (U H 9el Bl o §adl .
D. BE-d GepTH AT & FHaeH & fau usfiewo srfed 787 &

- fau mu famedt § 9 Het SR &1 984 S
1. PId A, C AR D

$ad B, C 3ARD

3. %99 A.B 3R C

4, $dd A, B 3R D

Options :

68634089565. 1
68634089566. 2
68634089567. 3
68634089568. 4

| )

Question Number : 93 Question Id : 68634022667 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 15 labelled as Assertion A and the other 1 labelled as Reason R.

Assertion A: National Family Health Survey (NFHS) - 5 reveals the total fertility rate (TFR) of India has
reached the Replacement Level.

Reason R: India reached replacement level because of one child policy.
In the light of above statements, choose the correct answer from the options given below.

1. Both A and R and correct and R is the correct explanation of A

[

. Both A and R and true and R 1s NOT the correct explanation of A
3. A 1s correct but R 13 not correct

4. A 1s not correct and R is correct

Options :

68634089569. 1
68634089570. 2
68634089571. 3
68634089572. 4

Question Number : 93 Question Id : 68634022667 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

i & By BT §: Ud ATUEHU (Assertion A) & ¥0 H [AREd & 91 g8 395 BRI (Reason R) &I H :
STUFYT (A): TP URER T &1 (NFHS) & 38R HRA 1 S o &Hd1 &3 (TFR), Wil & &R W
Ugd T B | ;

HIT (R): HRd, Uh = &1 Ifd & SR UTRITH TR IR Jgd T 8|

SRIGd BYF & Adie 5, 7 foy T ffeed © € 98l oW @1 ggd e

1. AR RGHI A € 3iRR, A T Tgl AT &
AR REH 9T E AR, A BT UL TR TS &

[ )

3. AT S iR AU

4. ANYT R AfPTRIT T

Options :

68634089569. 1
68634089570. 2
68634089571. 3
68634089572. 4

Question Number : 94 Question Id : 68634022668 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A child has multiple itchy popular lesions on the genitalia and fingers similar lesions are also seen n the
younger brother. Which of the following 1s the diagnosis:

1. Papular Urticaria

[ )

. Scleroses

. Atopic dermatitis

[ ¥]

4. Allergic contact dermatitis

Options :

68634089573. 1
68634089574. 2
68634089575. 3
68634089576. 4

Question Number : 94 Question Id : 68634022668 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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faa
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Options :

68634089573. 1
68634089574. 2
68634089575. 3
68634089576. 4

Question Number : 95 Question Id : 68634022669 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Patients who require more focused care and advanced technology are admitted in:

1. General ward

()

. Deluxe ward
3. Intensive care unit
4. Semi-private wards

Options :

68634089577. 1
68634089578. 2
68634089579. 3
68634089580. 4

Question Number : 95 Question Id : 68634022669 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634089577. 1
68634089578. 2
68634089579. 3
68634089580. 4

Question Number : 96 Question Id : 68634022670 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

X-rays were discovered by:

1. C.V. Raman

[ )

. Maxwell

T

. Roentgen

4. 1.J. Thomson

Options :

68634089581. 1
68634089582. 2
68634089583. 3
68634089584. 4

Question Number : 96 Question Id : 68634022670 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TEIBIEe A S A
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 HeRaa
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Options :

68634089581. 1
68634089582. 2
68634089583. 3
68634089584. 4

| ]
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Question Number : 97 Question Id : 68634022671 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: Iron 1s necessary for many functions in the body including formation of Haemoglobin, breast
development and regulation of body temperature.

Statement II: Lack of iron in body directly affects the immune system and the production of antibodies.
In the light of above statements. choose the correct answer from the options given below.

1. Both Statement I and Statement IT are true

()

. Both Statement I and Statement IT are false
3. Statement I is true but Statement I is false

4. Statement [ 1s false but Statement II 1s true

Options :

68634089585. 1
68634089586. 2
68634089587. 3
68634089588. 4

Question Number : 97 Question Id : 68634022671 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EIE] E?fﬁﬂﬁqﬂﬂ%:-

FYF 1: IR | HIf & o0 @I S awgmal sidl & fomd 9o e- smnated o fAaf, aféss
fa@Tg 3R Fr. AR ARG aoaE &1 oA,

FUF I1: IRR T A5 I DL 1Y 39 T UfcRaT o R uiorelt & Idred o wuIdd &<l 6.
QRITT FY & S H, Ard (G0 T8 b edl H§ 4 Yl 3R &1 999 BI9I0;

1. YT AR BYT I 2 9F &

2. BYT I AR BYT I SHT T &

3. ®YT] IO e, AT YT I 3 ©

4. FYF] A, AfPISYHAI I ©

Options :

68634089585. 1
68634089586. 2
68634089587. 3
68634089588. 4

Question Number : 98 Question Id : 68634022672 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: Social class difference have also been observed in the family structure and utilization of medical
and health services in India.

Statement II: Families in the lower classes are bigger in size. women marrying arly and bear more children
in India.

In the light of above statements, choose the correct answer from the options given below.

1. Both Statement I and Statement IT are true

[

. Both Statement I and Statement IT are false
3. Statement I is true but Statement I is false

4, Statement I 1s false but Statement II 1s true

Options :

68634089589. 1
68634089590. 2
68634089591. 3
68634089592. 4

Question Number : 98 Question Id : 68634022672 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
B EAIERCARI o

YA LURA B giiarie S39-1 3R ffddr 3k @y arsii & SuaiT 8 9Emfsie av & 3id @1 Tl

o

S ILHRT | 7 771 & IRaR] &1 PR TS1 3ld1 6. Redl &1 {aa18 Seal 8l ol & 3R 5 a=dl Bl
T=T 9 gl g

IRIad Y & Taid 4 A G 0 fawedl © 9 gl 3R &1 994 Sifa.
1. PR ISGA ad§
HYF 1 ARG ATT 8

| ]

3. PYT 1908 . dfeT pYT I A e

4. SYTI AT © . dfhd PUF I 9T &,

Options :

68634089589. 1
68634089590. 2
68634089591. 3
68634089592. 4



Question Number : 99 Question Id : 68634022673 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Health effect of air pollution are both mmmediate and delayed as bronchitis, asthma, COPD.
allergies and even lung cancer.Statement IT: Carbon monoxide 1s not among the major substances that pollute
air and leading to air pollution.

In the light of above statements, choose the correct answer from the options given below.

1. Both Statement I and Statement IT are true

()

. Both Statement I and Statement IT are false
3. Statement I is true but Statement IT 1s false

4. Statement I is false but Statement II 1s true

Options :

68634089593. 1
68634089594. 2
68634089595. 3
68634089596. 4

Question Number : 99 Question Id : 68634022673 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634089593. 1
68634089594. 2
68634089595. 3



68634089596. 4

Question Number : 100 Question Id : 68634022674 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 15 labelled as Assertion A and the other 1s labelled as Reason R.

Assertion A: Some mfections occur to the patient at the time of admissions to the hospital or after some time
in hospital.
Reason R: One of the reason for such infections 1s that patients are immunocompromised.

In the light of above statements, choose the correct answer from the options given below.

1. Both A and R and correct and R 1s the correct explanation of A

()

. Both A and R and true and R 1s NOT the correct explanation of A
3. A is correct but R 1s not correct

4. A is not correct and R is correct

Options :

68634089597. 1
68634089598. 2
68634089599. 3
68634089600. 4

Question Number : 100 Question Id : 68634022674 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634089597. 1
68634089598. 2
68634089599. 3



68634089600. 4



